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(6) Construct aMoore machine equivalent to 
the Mealy machine defined by the following 
table: 5

Present State
Next State
ar-0 a= 1

State Output State Output

-*4o 92 1 93 1
9t qo 0 92 0

qi 9i 1 9o 1
9, 93 0 9t 1

(c) Construct a tnmsitkmsystem which can 
accept strings over the alphabet set {<z, 6, c, 
...,z> containingdtimmmtosat. " 2

X (o) Consider the fofloWing grammar:

Find the Mmgoag* accepted by the above 
grammar. 2
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3. (a) Find the DFA equivalent to the grammar: 3

the
finite automation described by the following 
transition diagrim: •■•vsi;-
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(c) Find a reduced grammar equivalent to (fee 
grammar:

S->aAa\bD, A ->bBB, B :->ab, C->aB 3

4. (a) Reduce the following grammar to Greibach 
normal form:

S-+AO,A^OB,0->AO\l 5

(A) Construct a PDA accepting the folIowi|ig 
language:

[ Internal Assessment: 5 Marks]

GROUP-B 
Answer any two^oestions: 10x 2

1* Construct SLR(l)pm^t^teforthef<dk>wii^ 
granmiar:

S-»A)
A-*A,P)/(P,P 
P -> {num, num}
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(  5  )

r
basicbfocks and the DAG representation of 
basic blocks :
begin •,

PROD=Oj 
I " 'I; ...

. *b ’ " 
begin '

PROD “ PROD * (A[Q+B[l]);
1*1+1;

.. cod 
whtfeic= 10;

Consider the following gr. 
S->Aa/BhfcC

. C— ’ '.V'ii’p-:v-: :>.*•: 
A->D 
B-*D

: D->E ..........■

10

Is this grammar IX(1)? Why or why not? it)
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4. (a) Describe various representation of three 
address codes. Translate the expression

-  (a + b) * (c + d) + (a + b + c)
into quadruples andTriples. 2 + 4

(b) Consider the following gr.
G: E-»E + T/T  

T->T * F/F 
F-*<E)/id

Associate semantic rules with the production
for construction of syntax tree for an 
expression. Using translation scheme 
construct the syntax tree for the expression 
a + b * c. 4

[ Internal Assessment: 5 Marks]
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